ChioscoStana
)

BRAVOUR

STAND OUT & IMPRESS

)

Place floor bumpers underneath
1 the foot plate

Content

I O g(o) @@(o I

12x M6x10 4x M6x6 Ax M6x16

4 Bumpers 1 Vesa plate

Necessities

© ©
© ©)
1 Floor plate

.

I

2 side panels

1 front plate

1 back plate

O [o ¢ * =
NN &5 B

(-

Explanation

| L U~ ] S

NOTE: Use a soft
underlayment during
assembly to avoid damage

Mount the 2 side panels to the foot
plate, use 4x countersunk Mo.

2 Working together with someone,
might make this step easier.

Fit the footplate against the
3 straight side of the tube and

display and mount with 2x M6
Do not mount front or back plate yet!

Mount monitor or tablet on the
4 Vesao plat and guide the cables

through the column.
Refer to the manual and screws supplied with

—-your screenfor mounting instructions.—————————
Slide the front panel over the side
S panel and mount it according to

the holes with bx Mox10

Slide the back panel over the side

 panel and mount it according to
the holes with 6x M6x10

Your Chiosco stand is ready for use.

& '-.. .
% F I “" 7 | ’
- ".]'—‘ - -n
1 /| N
{ -
™, | .
i .
. 3 H‘ o -
| —

4 I ‘
’ .‘ '1
r"_ '

s \ e

(D

/__ = P

—_— |

= ] 1

y ' il

". L..._.; . / -




